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Pazt A

Arsiver all questions.
1 mgrk cach,

Average power taken by a pure capacifor 18 eee—— 7

Form factor is equal to peak factor in case of ————

Under resonance condition the phase angle between voltage end current phases is —
For idesl tanik circuit, the value of dynamic admittence ig —m————

Time constant of LB series cirenitis

Poynting vector has the dimensicn

Bkin depth is proportional fo - of @,

In a delia network, each element has value K. The value of cach clement in an equivalent sitar

network will be
(Bx1=8)
Pari B

Anstezr any six questions.
2 marks each,

Obtain the BMS value ef alternating eurrent.

State and axplain Thevenin’s theorem.

What is the average curvent during dne positive {or negative) half eycle of sinuscidal AC 7
What is powar factor ¥

Diefine the intensity of an elacirie Geld.

Turn over
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2 E 6131
What de you understand by surface charge of a conductor ?
What is the time constant of a series RC cireuit 7
State the boundary conditions for the components of magnetic field.
What iz Maxwell's modification of Ampere's circuital law ?
Dizcuss the merits of ballistic galvanomoeter,
(6= 2=12)
Pari C

Answer ory four questions.
4 muarks each.

If a battery of emf 100V is connected in gerieg with an inductor of inductance 10mH, a capacitor of
capacitance 0.005 pF and a resistor of resistance 1000, find the frequency of the cscillatory current
and the final capacitor charge.

A eoil of inductance 2 mH and resistance 150 is connected in parallel with a eapacitor of capacitance
(.001 uF, find the frequency at which the eurrent from an AC supply source to this circuit is
mniTnam. ;

Differentiate star and della conneetions.

The succcssive deflections to the right and lafi of the mean position in the case of a BG are 25.0,
24.9 and 24.8 respectively. Caleolate the logarithamic decrement. '

What is the capacitance required to preduce a resonant frequency of iMHz in a series LCR cireuit
containing an inductor of inductance 10mH and a resistor of resistance 1002 7

fin LR circuit consists of L = 20 mH and R = 10W. Find the time taken to decrease the current to
half of the maxdmum value.

(4 x4 =16
Part D
Answer any four guesfions.
12 marks each.

Discuss the theory of LR cireuit when alternating voltage is applied to it. Obtain expressions for
the current and impedance of the circuil, :

Write an essay on Ballistic Galvanometer.

Drefine sealar and vector potentials. Show that Maxwell’s equations can be expressed as twe coupled
seepnd opder differentinl equations in terme of scalar and vector potentinls,

Forploin the propagation of monochromatic plane waves in vacaum.

(2 % 12 = 24}



